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Telephone Survey Research Laboratory, Hong Kong Institute of Asia-Pacific Studies, The
Chinese University of Hong Kong

18 Bl I ~ BREREE T E s TBER

Hong Kong citizens aged 18 or above speaking Cantonese or Mandarin

DR BN R 2% ( Computer-Assisted Telephone Interviewing, CATI) #:4T
BRI S TE - B 7GR 71,0114 1855 DU ERE s @i i R (1
BWEE/KFT - HifERRER + 3.08%) - HEEACEREEMEH FHEESE - [0
e 57 BT 516,692 23.3% » T &R Aot -

Random sampling was adopted using CATI (Computer-Assisted Telephone Interview)
system. 1,011 respondents aged 18 or above speaking Cantonese or Mandarin were
interviewed. Sampling error is within £3.08% at 95% confidence level. The survey sample
contains both landline and mobile, their response rates are respectively 16.6% and 23.3%,
satisfying the scientific standards of survey.

Ry T AR FRE R MR A A I itV H BN - A& R e td Al iy
TR E AT BT SO AR SRS A ENIRERRER (weighting) - [E5) -
HR I BE S g BRI T A » SRETHRAME TR H B fH 012 7 A8 BLAE S
HHA

To better represent the distribution of the Hong Kong population, all data were weighted
by the probability of being sampled and the proportion of gender and age of people aged
18 or above (excluding foreign domestic helpers) according to the mid-year population for
2021 released by the Census and Statistics Department. The figures in this survey may not
add up due to rounding errors and weighting
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Survey Results

FF LU A BRI TR RE - 31 BT 0F - 188, EATE < FEEH ) HIEAR T T -
Note: All data were weighted for analysis. When calculating the mean, samples responded “88. Don’t know / Difficult to

say” are excluded

CRRBHAR T T R T BRI A REEEER - MR RE TIREARER, - ToRE TIFER
B o IWEREELITEBGEEREREEEIE ? ) (QLEQINIXFFEEI%ETR)
‘We would like to know how the public understands “one country, two systems” in Hong Kong. On a scale where
1 indicates “strongly disagree” and 7 indicates “strongly agree”, to what extent do you agree with the following

descriptions of Hong Kong after the handover?’ (The sequence of Q1 to Q9 will be randomly displayed)

Ql "EEFr i FAETHIEHEEE  BITREREANMTHER - (REREEE? 1277 Kg#®
BE3E?

Q1 ‘After the handover, Hong Kong has been able to practice a high degree of autonomy, and has been able to
handle its own internal administrative affairs. To what extent would you agree? From 1 to 7, what score will you

give?’
AR Hortk HRHE 7 EN T (EPa e
Frequency Percentage Valid % Cumulative %
1. 1 174 17.2 17.2 17.2
2. 2 99 9.8 9.8 27.1
3. 3 118 11.6 11.7 38.8
4. 4 106 10.5 10.6 49.3
5. 5 180 17.8 17.8 67.1
6. 6 132 13.1 13.1 80.2
7. 7 184 18.2 18.3 98.5
88.  IENIE / R 15 15 1.5 100.0
Don’t know/ Difficult to say
99. IRE&E[HE 4 04 e
Refused to answer Omitted
4&=+(Total) 1011 100.0 100.0
HREEA Valid Sample: 1007 B EEEA Omitted Sample: 4
SZ¥543 Mean: 4.16 fEAE 2= Standard Deviation: 2.110



Q2 T[EEFZi%  FHAEERFEEILEIEE - ITARERE ? 1270 (REHEKEZDE?
Q2 “After the handover, Hong Kong has been able to maintain independent judiciary powers. To what extent would

you agree? From 1 to 7, what score will you give?’

B Hortk HRHE 7t EN T (=Pae
Frequency Percentage Valid % Cumulative %
1. 1 185 18.3 18.4 18.4
2. 2 94 9.3 9.3 27.7
3. 3 99 9.8 9.8 375
4, 4 124 12.3 12.3 49.8
5. 5 144 14.2 14.3 64.1
6. 6 144 14.2 14.3 78.4
7. 7 200 19.7 19.8 98.2
88. UEHIZE / 4r¥H 19 1.8 1.8 100.0
Don’t know/ Difficult to say
99. {E&B[EE 3 0.3 e
Refused to answer Omitted
ga=fTotal 1011 100.0 100.0
HREA Valid Sample: 1008 H{EAEZA Omitted Sample: 3
SE¥543 Mean: 4.19 fE#EZE Standard Deviation: 2.162

Q3 T[EEFZi%  THREEMRREEIILEE - ITERERE ? 12770 (REHE&EZDE?
Q3 “After the handover, Hong Kong has been able to maintain independent legislative powers. To what extent

would you agree? From 1 to 7, what score will you give?’

SEB Byt BRESE BEES
Frequency Percentage Valid % Cumulative %
1. 1 202 20.0 20.0 20.0
2. 2 97 9.6 9.6 29.6
3. 3 106 10.4 10.5 40.0
4, 4 107 10.6 10.6 50.6
5. 5 138 13.6 13.7 64.3
6. 6 151 14.9 15.0 79.2
7. 7 190 18.8 18.8 98.1
88. UEHIE / 4r¥H 20 1.9 1.9 100.0
Don’t know/ Difficult to say
99. fE4E[OIE 1 0.1 R {E
Refused to answer Omitted
4Bzt Total 1010 100.0 100.0
BHREA Valid Sample: 1010 H{ERE A Omitted Sample: 1
“F95r Mean: 4.11 R Standard Deviation: 2.192



Q4 TEEFZI% » FTHENBEERFAAE T - (RERERE ? 1277 » IREHEZIUE? |
Q4 “ After the handover, the original ways of life of the Hong Kong people have maintained. To what extent would

you agree? From 1 to 7, what score will you give?’

AR Hortk HRHE 7t EN T (=Pae
Frequency Percentage Valid % Cumulative %
1. 1 123 12.2 12.2 12.2
2. 2 83 8.2 8.2 20.4
3. 3 135 13.4 13.4 33.8
4, 4 109 10.7 10.8 445
5. 5 137 135 135 58.1
6. 6 169 16.7 16.8 74.8
7. 7 237 234 235 98.3
88. TEHIE / FEEH 17 17 17 100.0
Don’t know/ Difficult to say
99. IE&E[HIE 1 01 R {E
Omitted
48=1Total 1011 100.0 100.0
HREA Valid Sample: 1010 H{EAEA Omitted Sample: 1
SE¥543 Mean: 4.52 fE#EZE Standard Deviation: 2.071

Q5 "[EEFzi%  HHREBEEAEmED - (REXRERE ? 12770 » [REHEEZIUE? |
Q5 “After the handover, Hong Kong continues to enjoy the freedom of speech. To what extent would you agree?

From 1 to 7, what score will you give?’

SEB Ee BRESE BEES
Frequency Percentage Valid % Cumulative %
1. 1 274 27.1 27.2 27.2
2. 2 102 10.1 10.1 37.3
3. 3 84 8.3 8.4 457
4, 4 103 10.2 10.2 55.9
5. 5 133 13.2 13.2 69.1
6. 6 149 14.8 14.8 84.0
7. 7 149 14.7 14.8 98.7
88.  IENIE / Y R 13 1.3 1.3 100.0
Don’t know/ Difficult to say
99. fE4E[OIE 4 0.4 R {E
Refused to answer Omitted
4=t Total 1011 100.0 100.0
BHREA Valid Sample: 1007 H{ERE A Omitted Sample: 4
“F¥595r Mean: 3.77 R Standard Deviation: 2.237



Q6 "[HfFzi% » FAMREBHEERE - IEGIEIREAEERE - Bt 3" - (A RERE ? 12
753 0 RGBSR 7
Q6 ‘After the handover, the development of Hong Kong’s democratic system has been progressively implemented,

following the provision of the Basic Law. To what extent would you agree? From 1 to 7, what score will you give?’

SES B4 FREStE  ERESH
Frequency Percentage Valid % Cumulative %
1. 1 239 23.6 23.7 23.7
2. 2 81 8.0 8.1 31.8
3. 3 95 9.4 94 41.2
4. 4 121 12.0 12.1 53.3
5. 5 155 15.3 154 68.7
6. 6 132 13.1 13.2 81.8
7. 7 158 15.7 15.7 97.6
88. IEHIE / {FEEsE 25 2.4 2.4 100.0
Don’t know/ Difficult to say
99. fE&E[EE 5 0.4 By
Refused to answer Omitted
4&=1 Total 1011 100.0 100.0
BHREA Valid Sample: 1006 H{ERE A Omitted Sample: 5
44y Mean: 3.92 fE#EsE Standard Deviation: 2.182

Q7 T[EEFZI% » FAENEEGR AR —EEE - IRARERE ? 1277 iREHRES0IE ? |
Q7 ‘After the handover, Hong Kongers continue to be treated equally before the Law. To what extent would you

agree? From 1 to 7, what score will you give?’

SEBY Eisrtt BREStE  BEESH
Frequency Percentage Valid % Cumulative %
1. 1 120 11.9 12.0 12.0
2. 2 90 8.9 9.0 20.9
3. 3 107 10.6 10.6 315
4. 4 87 8.6 8.6 40.1
5. 5 159 15.8 15.8 55.9
6. 6 185 18.3 18.3 74.2
7. 7 247 245 24.6 98.8
88. UEHIE / 4rEEHE 12 1.2 1.2 100.0
Don’t know/ Difficult to say
99. fRE&E[0% 3 0.3 7YIER
Refused to answer Omitted
4&=1 Total 1011 100.0 100.0
EREA Valid Sample: 1008 EEREA Omitted Sample: 3
¥4y Mean: 4.63 fEESE Standard Deviation: 2.076



Q8 T[ElfFx 1% » FAEFDMIEIHERR THE - e - (IRARERE ? 1277 - IR
e ? |
Q8 ‘After the handover, Hong Kong is able to keep intact the sovereignty of China, national security and profits

from development projects. To what extent would you agree? From 1 to 7, what score will you give?’

SEBY Ee BREStt  BEESH
Frequency Percentage Valid % Cumulative %
1. 1 91 9.0 9.1 9.1
2. 2 60 5.9 6.0 15.0
3. 3 87 8.6 8.6 23.7
4, 4 111 11.0 11.0 34.7
5. 5 189 18.7 18.7 53.4
6. 6 190 18.8 18.8 72.3
7. 7 253 25.0 25.1 97.4
88. IEHIE / UFEEEE 26 2.6 2.6 100.0
Don’t know/ Difficult to say
99. JE&E[EE 4 0.4 HR{E
Refused to answer Omitted
4&=1 Total 1011 100.0 100.0
ERIEA Valid Sample: 1007 FLEREA Omitted Sample: 4
154y Mean: 4.86 fE#EsE Standard Deviation: 1.929

Q9 "[HEFI% » FHEMMGERFIRINERIEE - IREXERIE ? 1277 (REEEZIE?
Q9 “After the handover, Hong Kong is able to maintain prosperity and stability in the long term. To what extent

would you agree? From 1 to 7, what score will you give?’

SEI E e BEStE  EEES
Frequency Percentage Valid % Cumulative %
1. 1 158 15.6 15.6 15.6
2. 2 102 10.1 10.1 25.6
3. 3 125 12.4 12.4 38.0
4, 4 116 11.5 11.5 495
5. 5 156 155 155 65.0
6. 6 148 14.7 14.7 79.7
7. 7 189 18.7 18.7 98.3
88. UEHIZE / 4rEEHE 17 1.7 1.7 100.0
Don’t know/ Difficult to say
g&=t Total 1011 100.0 100.0
BHXEA Valid Sample: 1011 F{EREA Omitted Sample: 0
¥4 Mean: 4.22 W#EE Standard Deviation: 2.093



Q10 " EERQUREE - IRRRTEE TG ) AR ? WRLAE TIEE R . BT AR TIE
W) s 0 1875 IRGEREZIE ? |
Q10 ‘how successful has the practice of “Hong Kong people administering Hong Kong” been? If 1 indicates “very

unsuccessful” and 7 indicates “very successful”, what score will you give?”

SES B4 FREStE  ERESH
Frequency Percentage Valid % Cumulative %
1. 1 246 24.3 24.4 24.4
2. 2 118 11.6 11.7 36.1
3. 3 94 9.3 94 454
4, 4 112 11.1 11.1 56.6
5. 5 165 16.3 16.3 72.9
6. 6 127 12.5 12.6 85.5
7. 7 135 13.3 134 98.9
88,  IE4N / 11 1.1 1.1 100.0
Don’t know/ Difficult to say
99. {E&E[HIE 3 0.3 HR{E
Refused to answer Omitted
4&=1 Total 1010 100.0 100.0
BHREA Valid Sample: 1008 H{ERE A Omitted Sample: 3
154y Mean: 3.75 fE#EsE Standard Deviation: 2.151

Q11 T{RAMNK(E LEEMRAK (RI20474ER]) REREVEE " —EIWH 5 UE ? WR1DRE IFEAE
Ly 0 BT TIREAEG L. 0 12T RGHREZIIE?
Q11 ‘How confident are you in the full implementation of “One Country, Two Systems” in Hong Kong in the

future (before 2047)? If 1 indicates “very unconfident” and 7 indicates “very confident”, what score will you give?’

SEB Ee BRESE BEES
Frequency Percentage Valid % Cumulative %
1. 1 252 24.9 25.1 25.1
2. 2 94 9.3 9.3 34.4
3. 3 78 7.8 7.8 42.2
4, 4 78 1.7 7.8 50.0
5. 5 136 13.4 135 63.5
6. 6 142 14.1 14.2 7.7
7. 7 198 195 19.7 97.4
88.  IEHIE / YR 26 2.6 2.6 100.0
Don’t know/ Difficult to say
99. fE&E[OIE 7 0.7 R {E
Refused to answer Omitted
4=t Total 1011 100.0 100.0
FHREA Valid Sample: 1004 H{ERE A Omitted Sample: 7
323547 Mean: 3.99 fEEsE Standard Deviation: 2.308



Q12 " #EHhEE A LR & - Ritth o] & @SS pafs DU - (RA SRS 0IE 2 MR 1K
® VEEAEL, » BT TIREAREB L. 181D (REHEEZT 7

Q12 “When conflicts between mainland China and Hong Kong arise, how confident are you that the conflicts can
be resolved through consultation and dialogue? If 1 indicates “very unconfident” and 7 indicates “very confident”,

what score will you give?’

SRS E4rtE BRESLE BB E S
Frequency Percentage Valid % Cumulative %
1. 1 226 22.3 225 225
2. 2 95 9.4 94 31.9
3. 3 101 10.0 10.0 41.9
4, 4 97 9.6 9.7 51.6
5. 5 139 13.8 13.8 65.4
6. 6 137 13.6 13.7 79.1
7. 7 182 18.0 18.1 97.2
88. UEHIZE / 4r¥kH 28 2.8 2.8 100.0
Don’t know/ Difficult to say
99. {E&B[EE 6 0.5 e
Refused to answer Omitted
ga=tTotal 1011 100.0 100.0
HRkEA Valid Sample: 1005 B EfEA Omitted Sample: 6
SE54 Mean @ 3.99 fH%EZE Standard Deviation: 2.227

Q13 "MIRINHFE TIEEAE L. - ToRE TIFEARE L. » IREEBREHREA LG LIE ? 127
73 ARG S ?
Q13 “If 1 indicates “very unconfident” and 7 indicates “very confident”, what score will you give?’, how confident

are you in the education system of Hong Kong?’

gL Horth HRESEE BEESE
Frequency Percentage Valid % Cumulative %
1. 15y (JEEFTEL) 210 20.8 20.8 20.8
2. 2457 107 10.6 10.6 31.3
3. 345y 124 12.2 12.2 43.6
4, 45y 149 14.8 14.8 58.4
5. 541 204 20.2 20.2 78.6
6. 647 100 9.9 9.9 88.4
7. 75y (JEEHEEL) 91 9.0 9.0 97.4
88. UBHIE / iFEkE 26 2.6 2.6 100.0
Don’t know/ Difficult to say
4&=1Total 1011 100.0 100.0
HREA Valid Sample: 1011 HE A Omitted Sample: 0
SZ¥543 Mean: 3.70 fEESE Standard Deviation: 1.960



Q14 TR1pARFE TIRERRE, - ToAFE "IFERE s - B TRGEEN  BEEG - A%
[EUE ? L2757 » IRG &L TUE ? |
Q14 “If 1 indicates “extremely weak™ and 7 indicates “extremely strong”, how strongly do you identify yourself

as a Hong Konger? From 1 to 7, what score will you give?’

SES B4 FREStE  ERESH
Frequency Percentage Valid % Cumulative %
1. 1 17 17 1.7 1.7
2. 2 19 19 1.9 3.7
3. 3 45 4.4 45 8.2
4, 4 69 6.8 6.9 15.1
5. 5 142 14.1 14.3 29.4
6. 6 169 16.7 16.9 46.3
7. 7 526 52.0 52.7 99.0
g8, FEHE / FEsE 10 1.0 1.0 100.0
Don’t know/ Difficult to say
9. TE4E[EE 13 1.3 HR{E
Refused to answer Omitted
4&=1 Total 1011 100.0 100.0
BHREA Valid Sample: 998 H{EfE A Omitted Sample: 13
154y Mean: 5.95 fE#EsE Standard Deviation: 1.455

Q15 "HRINAE TIFEARE . » TRE TIEERE, o B TIRGHEIA , VEESG - RE R
[FUE ? 12773 > IREEHEZIUE ? |

Q15 “If 1 indicates “extremely weak™ and 7 indicates “extremely strong”, how strongly do you identify yourself
as a Chinese? From 1 to 7, what score will you give?’

SEB Ee BRESE BEES
Frequency Percentage Valid % Cumulative %
1. 1 110 10.9 11.0 11.0
2. 2 52 5.2 5.2 16.3
3. 3 84 8.3 8.4 24.7
4, 4 77 7.6 1.7 32.4
5. 5 77 7.6 1.7 40.1
6. 6 99 9.8 9.9 50.0
7. 7 489 48.4 49.0 99.0
88.  IEHIE / YR 10 1.0 1.0 100.0
Don’t know/ Difficult to say
99. fE&E[OIE 12 12 R {E
Refused to answer Omitted
4=t Total 1011 100.0 100.0
BHREA Valid Sample: 999 H{EfE A Omitted Sample: 12
SE354 Mean: 5.24 fE#E2= Standard Deviation: 2.170



Q16 "Iy HFE TIFHEEWME s » TR TIEEWE s - IREAB B IR /K A KImEE 2 127
73 ARG S E?
Q16 “If 1 represents “very unsatisfied” and 7 represents “very satisfied”, how satisfied are you with the quality of

the work of civil servants?’

SEBY ELR FREStE  ERESH
Frequency Percentage Valid % Cumulative %
1. 1 84 8.3 8.3 8.3
2. 2 106 10.5 10.5 18.8
3. 3 173 17.1 17.1 35.9
4, 4 217 21.4 21.5 57.4
5. 5 252 24.9 24.9 82.3
6. 6 94 9.3 9.3 91.6
7. 7 65 6.5 6.5 98.1
88. [EBHIE / {FikE 19 1.9 1.9 100.0
Don’t know/ Difficult to say
99.  fE&E[0% 1 0.1 HuE
Refused to answer Omitted
4&=1 Total 1011 100.0 100.0
BHREA Valid Sample: 1010 F{ERE A Omitted Sample: 1
3543 Mean: 4.00 A7 Standard Deviation: 1.611

Q17 TR AFE TIRE AT, » 70 TR, - (FEREHCHER (BE) H%THIE ?
12757 IR G EEZ e ? |

Q17 “‘If 1 indicates “extremely unfamiliar” and 7 indicates “extremely familiar”, how familiar are you with national
Constitution? From 1 to 7, what score will you give?’

HREL Hortk HRHE 7 EN T (EPa e
Frequency Percentage Valid % Cumulative %
1 a (GEEAREEH) 185 18.3 18.4 18.4
B (Very unfamiliar)
2. 2%y 115 11.4 11.4 29.8
3. 3% 188 18.6 18.7 48.5
4, A%y 190 18.8 18.9 67.3
5. 5% 157 15.5 15.6 82.9
6. 6% 80 7.9 7.9 90.8
7 79y (IEEZE) 67 6.6 6.6 97.5
© 7 (Very familiar)
88, TEHE /T 26 2.5 2.5 100.0
Don’t know/ Difficult to say
B4R 3 0.3 A {E
99. .
Refused to answer Omitted
4&=t  Total 1011 100.0 100.0
FHXEA Valid Sample: 1008 F{EAEZA Omitted Sample: 3
SZ¥543 Mean: 3.53 fE#ESE Standard Deviation: 1.799



Q18 " R RAEIRAEEN 20474 » DU BRI & TR 2047 - BE T T T —BIWH o AFIE 2 5 (7]
B2 TH)
Q18 ‘From now to 2047, which of the following conditions would be favourable to the continuation of “One

Country, Two Systems” after 2047?” (Multiple answers allowed)

IOV ZN:
7L R Bt
Frequency Percentage out of Valid
Sample
1. BlE—PREL 286 28.3
Democratising further
2. R e 312 30.9
Safeguarding National Security
3. #Rr=EHEE 419 415
Maintaining a high degree of autonomy
4. EBERTEIEE 558 55.2
Maintaining economic prosperity and stability
5. HAth (FEHA) 29 2.8
Others (please specify)
6. HAth : BAECLHET W] 7 0.7
Others: “One Country, Two Systems” is not implemented
currently
7. HAW : 204THEAR R EZ S E TR 3 0.3
Others: We should not implement “One Country, Two
Systems” after 2047
8. WERIE U EEHE 83 8.2
Don’t know/ Difficult to say
9. fEAE[EIZE 25 2.4
Refused to answer
44zt Total 1721 170.3%
BHREA Valid Sample: 1011 H{E 15 4Omitted Sample: 0

* MESTEREZEE (HEE) FRUAREAR AR (1683 N) BHHY - [l » HNEFFZaiEs TN —HE
Z - IEEEAEETRE S 100% -
* The percentage of an option is its frequency divided by the number of valid samples (i.e. 683). Since respondents may choose

more than one option, the sum of percentages may exceed 100%.

Q18_OTH " {REDFALIRAEFI20474E » DU BRI & HEBIR2047T 12 BEE T T —BIMWHl , AFE ? |
(HAE )
Q18 OTH ‘From now to 2047, which of the following conditions would be favourable to the continuation of “One

Country, Two Systems” after 2047? (Other answers)

HHEL Horth HRE IR ZEE I
Frequency Percentage Valid % Cumulative %
10.  Efth @ DLERRAFEA G B 10 0.9 33.2 332
— B
11, Hfth : BUFSMESESERE 5 0.5 17.1 50.3
12, HAM - BERREIZEE 1 0.1 4.0 54.3

10



13, Hfth : FEEABIINEE 1 0.1 2.8 57.1
14, HAth - EEBANFIAREK R 1 0.1 5.1 62.2
TAEMIRM:
15, HAlh - (REFEBMEREHNAL 2 0.2 8.4 70.7
SMERR
16. HAh @ DAY AL 1 0.1 2.3 73.0
17, HAh - BtHFAR ) 0 0.0 1.5 74.5
18. HAth : #EFFEREGHYAEE T = 1 0.1 3.9 78.4
19. Eﬁi%ﬁﬁ%@ﬁ%ﬁﬂ&@ 3 0.3 10.5 88.9
N
20. HAtr - BESCAEERA TS 1 0.1 4.9 93.8
21, HAth - BPAHIEREIL 1 0.1 2.1 95.9
22, HAth - [O{EFIDAF] 1 0.1 4.1 100.0
0 i 982 97.2 ]
" Not applicable Omitted
s 1011 100.0 100.0

FHREAR Valid Sample: 29

11

B EEA Omitted Sample: 982



Q19 "R IEEH B R A B & B fE (h eiE e (BIahEE ~ 53 - AR - BIk) 2 4%g - 5
g EGREEIE?
Q19 “Would you consider living or moving to other cities of Guangdong-Hong Kong-Macau Greater Bay Area

(for study, employment, business or retirement)?’

BB Horth FHE I BEESE
Frequency Percentage Valid % Cumulative %
1. —E% Definitely will 69 6.8 6.9 6.9
2. H[HE® Maybe 342 33.8 34.2 41.1
3. rEar No 577 57.1 57.7 98.8
8. BRI YrEEE 12 1.2 1.2 100.0
Don’t know/ Difficult to say
9. {E&E[EE 3 0.3 EE
Refused to answer Omitted
0. Nl (EEKEEEESR9 0.9 HR{E
JE2) Omitted
Not applicable (living in GBA
#a=t Total 1011 100.0 100.0
HtEA Valid Sample: 1000 HR{EfE A Omitted Sample: 11

Q20 " fRAK LA A EEEBH T B BB N THRIE 2

Q20 ‘Do you have any plans to emigrate from Hong Kong in the next five years?’

SHEL Horth HX¥ESEE BEESE
Frequency Percentage Valid % Cumulative %
. HfIH Yes 179 17.7 17.9 17.9
2. fEFTE No 809 80.0 80.8 98.7
TEAE s 13 1.3 1.3 100.0
Don’t know/ Difficult to say
9. IE&ENE 5 0.5 ]
Refused to answer Omitted
0. M (EBE/S 5 0.5 e
CA SN =R HE ) Omitted

Not Applicable (already emigrated/
already possess right to abode in
foreign countries)

g=fTotal 1011 100.0 100.0
HREA Valid Sample: 1001 HA{EEEA Omitted Sample: 10

12



Q21 "Ry FIRERIME s » TR TIEEWE - (REBEIDAEEERIA KIEEE ? 127
gy ARG EEZ I ?

Q21 “If 1 indicates “very dissatisfied”” and 7 indicates “very satisfied”, how satisfied are you with the performance
of Legislative Council? From 1 to 7, what score will you give?’

HHEL Horth HRHE 7T FrEE I
Frequency Percentage Valid % Cumulative %
1 15y (FEERmE) 250 24.7 24.8 24.8
"1 (Very dissatisfied)
2. 257 122 12.1 12.1 36.9
3. 3 123 12.1 12.2 49.1
4. 457 158 15.6 15.6 64.7
5. 5597 188 18.6 18.6 83.3
6. 647 86 8.5 8.5 91.8
. 17 (FRERE) 47 4.7 4.7 96.6
" 7 (Very satisfied)
6. UEAE / (s 35 3.4 3.4 100.0
Don’t know/ Difficult to say
99 EiEECIEIR:S 4 0.4 B
Refused to answer Omitted
4&=1  Total 1011 100.0 100.0
BHREA Valid Sample: 1007 H{ERE A Omitted Sample: 4
354y Mean: 3.37 fE#EzE Standard Deviation: 1.878

Q22 " I A G [Pk & B B R AT B T - (R R H T E eI E - AP &
HITREEE ? |

Q22 “There were new electoral systems for Legislative Council and District Council. Do you think this will bring
positive, negative or have no impact to Hong Kong’s governance?’

BB Horte HRE R FiEE T
Frequency Percentage Valid % Cumulative %
1. EmE 249 24.6 25.0 25.0
Positive
2. =Na] 318 315 31.9 56.9
Negative
3. k=7 302 29.8 30.3 87.1
No impact
8. TEHE s 128 12.7 12.9 100.0
Don’t know/ Difficult to say
9. {E&ME 15 1.5 BrE
Refused to answer Omitted
Za=t Total 1011 100.0 100.0
BHREA Valid Sample: 996 B A Omitted Sample: 996

13



POL " SEFREIEUAMHIAEN - {REGH CHEm LN EEEETE 7 5 (EHI1-6)
POL “When asked about your political inclination, which political camp do you incline to identify yourself with?’
(Read options 1-6)

HREL Horth HRE T ZiEE TR
Frequency Percentage Valid % Cumulative %
1. Uk Pro-establishment 77 7.6 7.8 7.8
2. EEFEJk Pro-democrat 99 9.8 10.1 18.0
3. AR+ Localist 35 35 3.6 21.6
4, FifE]Jk Centrist 89 8.8 9.1 30.6
5. 4% T {a] B J& fH 1 No political 642 63.5 65.5 96.1
inclination
18, HAtr : RIIRK P REIR 1 0.1 0.1 96.2
Others: Pro-democrat and centrist
20.  HAth : AR 1 0.1 0.1 96.3
Others: Pro-China
22, Hith : FEIK 1 0.1 0.1 96.4
Others: Patriot
25 HAth : K NRMEAIRA 0 0.0 0.0 96.5
Others: Serving for people
26.  HAth : fRSFIK 1 0.1 0.1 96.5
Others: Conservative
88. IEHIE IFEEEE 34 3.4 35 100.0
Don’t know/ Difficult to say
9. B0 Refused to answer 31 30 ﬂﬁ
Omitted
4a=fTotal 1010 100.0 100.0
B4 Valid Sample: 980 FR{EAEA Omitted Sample: 31

GENDER =735 1R Gender of respondents

FREL Horth ARESE  REEZSEE
Frequency Percentage Valid % Cumulative %
. 5 Male 475 47.0 47.0 47.0
2. 2z Female 536 53.0 53.0 100.0
48T (Total) 1011 100.0 100.0
B4 Valid Sample: 1011 H{E15 4~ Omitted Sample: 0
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AGE T {REBINEL T EEFEEAHAIE 2 ‘Which age group does you belong to?’

(584 Read options 1-6)

BB Horth HE L FREE L
Frequency Percentage Valid % Cumulative %
1. 18-29 132 13.1 13.1 13.1
2. 30-39 153 15.2 15.2 28.4
3. 40-49 170 16.8 16.9 45.3
4. 50-59 182 18.0 18.0 63.3
5. 60-69 196 194 19.5 82.8
6. >70 174 17.2 17.2 100.0
9. {ERMHE 4 0.4 HR{E
Refused to answer Omitted
4&=t (Total) 1011 100.0 100.0

FHREZA Valid Sample: 1007

HHEREA Omitted Sample: 4

EDU "R Ef2EEF#E0E 2 | ‘What is your educational attainment?’

SHEL Horth BRESE  BEESE
Frequency Percentage Valid % Cumulative %
1. /NEECLLR Primary or below 93 9.2 94 9.4
) W (h—Zrh=) Secondary (F.1- 119 11.8 12.0 21.4
' F.3)
3 5 (FrEpAER} ) Secondary 249 24.7 25.0 46.4
(F.A-F.7)
4. H IR (BESCUE/EIE1AVE 123 12.2 12.3 58.7
%)
Non-degree tertiary (including
diplomas, associate degrees, IVE, etc.)
) KEEE(T Bachelor’s degree 321 31.8 32.2 91.0
6. Wkt (E#EELAEE) 90 8.9 9.0 100.0
Postgraduate  degree  (including
master’s and doctoral degree)
9. FE4E[0]& Refused to answer 5 15 ﬁﬁ@
Omitted
4=t (Total) 1011 100.0 100.0

HREA Valid Sample: 996
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WORK " {; H Bi{&IE(4/ERE A IE 2 | ‘Are you currently an employed person?’

FREL Hortk HRHE 7t FiEE TR
Frequency Percentage Valid % Cumulative
FEf% AL Employed 608 60.2 61.0 61.0
. FHZ Homemaker 40 4.0 4.0 65.0
3. JB{RK Retired person 283 28.0 28.4 935
4 (S YRR AR (VS 26 2.6 2.7 96.1
' Job seeker
5. B4 Student 39 3.8 3.9 100.0
9. FE48[0)% Refused to answer 14 14 ﬂﬁ
Omitted
41 (Total) 1011 100.0 100.0
B3R Valid Sample: 997 H{EtE A Omitted Sample: 14

OCCUP " i o ek 26 s (i A e 2 (b RFSERR A Z35% )

‘What occupation or position are you?’ (Question for interviewees who are employed)

HREL Horth HEE T ZEE L
Frequency Percentage Valid % Cumulative
1 TEREENE 292 28.9 48.7 48.7
" Administrative and professional
» NEMERBENE 193 19.1 32.3 81.0
" Clerks and service staff
3 TA 96 9.5 16.0 96.9
" Workers
Lo, HoAth : dmEEEEH 4 0.4 0.7 97.6
Others: No identification
1 HAth - Hig/ HELFE 13 1.3 2.2 99.8
Others: Self-employed / freelance
1 HAl - BrEE 1 0.1 0.2 100.0
Others: Investors
ELEEE 9 0.9
9. Refused to answer A
0. N - 403 39.8 -
Not applicable
4EE 1011 100.0 100.0

HREEA 600 BHMEREA 411

S_CLASS " EEFIRERGE —Er GiEE A L E - X ERARERER TE - T E - FE -
b B EBALE? |

‘When it comes to which social class your household belongs to, would you think that your household belongs to
the lower class, lower-middle class, middle class, upper-middle class, or definitely the upper class?

FRE BTtk AREStE BEESL
Frequency Percentage Valid % Cumulative
TE 150 14.8 15.3 15.3

Lower class

16



, FTE 308 30.5 31.4 46.6
" Lower-middle class
mag= 408 40.3 41.5 88.2
3. .
Middle class
, FLE 97 9.6 9.8 98.0
" Upper-middle class
5 F= 7 0.7 0.7 98.7
" Upper class
o HERTE 13 1.3 1.3 100.0
Don’t know
9 B4R 29 2.8 HHE
" Refused to answer Omitted
ga=t 1011 100.0 100.0

HREA 982
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AR AR
Explanatory Notes on Weighting

AR EARNEAE (Dual frame) SWEESEHEHEESGT - BTG S T & B EE MRS SIET
TSRS TR NE 2L B Y B SE SRS EEA - RN FIR A R = G 4 BB sE SR S A1 ISR EE I A B BUR % -
AT HER AR BB AL - it S R (B BEAE 2R BB s At A R RN R AT RIS I R itat - A&
B LU MR I 2

The telephone survey uses a dual-frame sampling design. It randomly selects phone numbers from a combined
sample of residential landline and mobile phone numbers. Given many individuals may own both landline and
mobile phone numbers, two steps were added in the weighting method to avoid estimation inaccuracy caused by
double-counting or other unknown factors. The weight factors are as below.

FB—  EENRAR
Step 1: Telephone ownership

HEAFEA A R 8 E FI B RO B SRR - Mgt VR A AR - BAIFREA — AHEEE R
RIS - PR EEERZ BB Pt E R - AP0 2 38 WA % EE M SR A
FHESRISEE - b5 EE RS K TR -

Since each individual owns a different amount of landline and mobile numbers, each has a different probability of
selection as respondents. To eliminate over-representation of any individual, the first step is to approximate the
probability of selection for each respondent. It is a ratio of the amount of landline and mobile numbers owned by
a respondent to the total number of those in the territory.

L
= Ir\l]—i e%-'_ Ir\l[—: x th

=t i = Fih Ay A

n, = X EE A S AR H

N, = EHIE SRR oL

ti = Fi AL P A EE SR E

ef = EFTEERZIHAR

N = SR RN =]

Np, = IR Ry Al i

" = Fita N LA ABEA R TSRS H
Where i = i-th person selected

ng, = amount of sample’s landline numbers

N, = amount of population’s landline numbers

th = amount of i-th person’s landline numbers

ek = amount of eligible respondents in the household
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Ny, = amount of sample’s mobile numbers
N = amount of population’s mobile numbers
t" = amount of i-th person’s mobile numbers

IERTL (WTL) ZatBE T R zan il renfny@img &S BWTLi=mt -
Weighting factor 1 (WT1,) is calculated by the inverse of probability of selection of individual i, i.e. WT1; = m™.

SR AOEE

Step 2: Population estimates

FH > A B ah e G FU 2 DA 48 R TS R B iy (RIS R dEatsitls) -~ M ERle AD A
> By T IReE I EBIR EAE B N MV EE B - BIRA R T TR R E BT e A ffify2021
P8R L, EVER R e i (FURRINERER L) - fOfERT-2 (WT2) #UstREIT% - 2IEAO
et R R AL AR A DO ilEt > BRUACENIRER T LD HER & P e Y N A -

As the telephone survey uses a dual-frame sampling design which samples from phone numbers for residential
landlines and mobile phones (i.e. all samples are telephone numbers). To better represent the distribution of the
Hong Kong population, all data were weighted by the proportion of gender and age of people aged 18 or above
(excluding foreign domestic helpers) according to the mid-year population for 2019 released by the Census and
Statistics Department. Weighting factor 2 (WT2) is calculated by dividing the population estimates of a gender
and age group by the sample size of the corresponding group adjusted by weighting factor 1.

NNRER - LhDRETR Y
2023FEP NG (%) |BEEgaEtEA
G| Mid-year Population A5 (%) HOREAT
Age Group Distribution for 2019 Population  Distribution ~ of|\Weighting Factors
(%) Survey after weighted by WT1
(%)
B Male 7 Female B Male % Female B Male % Female
(A) (B © (D) (A+C) (B=D)
18-29 411200 404800 828752 438377 0.496167464  |0.923405264
30-39 459100 486700 759358 712787 0.604589490  |0.682812892
40-49 473500 575600 595835 643624 0.794682672  |0.894311513
50-59 508800 633100 734411 783888 0.692799829 0.807641379
60-69 581800 626100 771445 578673 0.754169431 1.081958692
>70 493500 577000 562356 492437 0.877558576 1.171724541
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& FEE Final Step

B IFER T AT ETANT ¢

The final weighting factor is calculated by the following formula.

WT_F =WT1 = WT2

= WT_F = AR NIRRT
WT1 = DIFER -1
WT2 = IIFER -2

Where WT_F = Final weighting factor
WT1 = Weighting factor 1
WT2 = Weighting factor 2
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